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IR 4.1. RD 2 ZHE f(z,y) T LT, ROMEZE KD &.
o f(z,y) =2y DL E,

(1) f(-1,2)=(-1)°-2= -2

(2) f(2,0)0=23-0=0

o f(z,y) =3z +4dy—a?—y> DL Z,
(3) f(2,1)=6+4—-4—1=5

(4) f(4,3)=12+412-16-9=—1

o f(x,y) = min{2z,4y} D& &,
(5) f(4,1) = min{8,4} =4

(6) f(3,2) = min{6,8} =6

PISE 4.2. KD V5 7 &HIT (F12 2,y = 0 ORFITE T kW), 7272 U, el - Rl e & 1
lHEL %2129 5.
(1) 2z +4y=16 Dr 77

e BT DL, y=—1x+4 |

ROT, YU H 4, HEH —L DR, (1) |

(2) min{2z,4y} =8 DI 7

- | | | | (2)
o 2rx =8 2fp & z =4 77,,4,,4,,;,,;,,5;: _

o dy=8 2 L y=2

DT, K (4,2) 2L T5LFEHDIT T 7.



